Linear Transformationsof Graphs

:> restart :

| > L :=10:# plot boundaries

| b(X) isthe base function.

| > b= x—x
h(x) isthelinear transform on the input to b(x), it affects the graph horizontally, thus

| h(X).
> h ==x—>_71(x+3) :

v(x) isthelinear transformation on the output of b(x), it affects the graph vertically,
thus v(x).
> vi=x— -x+3:
Plot the base function b(x) in blue and the transformed function v(b(x)) in red (thisis
| the intuitive transform)
> plot([b(x),v(b(x))],x=-L..L,y=-L..L, color=[blue, red])
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_Plot the base function b(x) in blue and the transformed function b(h(x)) in red (thisis

_ the counter-intuitive transform)
> plot([b(x),b(h(x))],x=-L.L,y=-L..L, color=blue, red])
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;Now plot the base function b(x) in blue and v(b(h(x))) in red, thisisthe entire function
> plot([b(x),v(b(h(x)))],x=-L..L,y=-L..L, color = [blue, red])
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